HOME ASSIGNMENT (2024)
ECONOMICS (Hons.)
B.A. PART-II
CENTRE FOR DISTANCE AND ONLINE EDUCATION
DIBRUGARH UNIVERSITY

(Answer the following questions within 500 to 800 words)
Course — ECOM - 305 (International Economics)

1. What are the conditions objectives of international pyonetary Fund (IMF). Do you think that IMF
have succeeeded in relizing these objectives ? Giive reasons. 6+4=10
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2. Write short notes on
5Y B fovan 5+5=10
(1) Ricardo’s theory of Comparative Cost
feFrea g e og
(1) Myrdal’s theory of Backwash Effect.
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Course — ECO M — 306 (Environmental Economics)

1. What is Environment quality ? How Environment quality is determined? 5+5=10
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2. Write short note on
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(1) Sustainable Devlopment
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(ii) Renewable natural resources
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Course - ECOM - 307 (History of Economic Thought)

1. Evaluate the contribution of Ad

am Smith to cconomic thought.
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2. Discuss the Achievement and limitations of Keynsian Economics. 10
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Course — ECO M — 308 (Development Economic)

1. Write short notes on

B
(a) Capital output ratio
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(b) Regional disparities in india
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2. Write short notes on
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(a) Growth model of R.M. Solow
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(b) Man power planning
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Course - ECOM - 309 (Mathematics for Economics)

1. The demand function js P=

e 542 Co
equilibrium the price and quami?y.a"d the cost function is TC = 504294392 Determine
10
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or
3. Wright short noteson 5+5=10
5 (Ort ferat
(a) Cabb- Doreglas production function
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(b)Properties of indifference curve
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Course — ECO M - 310 (Issues of Indian Ecomomy With Special Reference to NE-India)

1. Draw a picture on the level of poverty in India . Mention the schemes recently introduced by
the government of india to eradicate poverty

TSI AiGR TR Fie o fa wwn e ARaet 79 IR oo HIII TSI a2

391 BT S FT | 5+5=10
Or

2. Wright short note on 5+5=10
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(a) Regional disparities in India
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(b) Indian Agriculture and WTO
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